202080 AW 8O NS 2L Sy

EENRRERENRRESS
0l2/2(2] *

>
i -_":; d;:/’ ;ﬁ'%‘ 300 1:30° =3
L.\z..:,u" _',ff;,:slz,,nu:g;d/f 150 A0

‘v‘ﬂ"‘}.’ C-l'l""-‘*| }S J“‘-"‘bl"} E»r Cl:-f = ¢:"“!“ il 3 c"r' ':"ﬂ)“

o 26 ool 5 g 0 S A 5 e S5 25 o ] a5 i e 3 0 e
w0 g 75 pl g N g S S S5 TS

o et 2 S SG) i s pe Sy g

e aie 00 2 S iy U S S s 55 e

a8 e e S S ey e sl S ) S S 3G, S

cH S~ ) e oS il g e (e Sl (il cOA D) o
SIS e S I i 5 2 S aaa 1S B uai Jigu S1- sk S 00
0e0®

Wi e Sl ga inem oS 0 g0 S el o JoEe pusea g2 S Y1 e 20% 033) 05
C e L o > . -

o Sl (S S i Jiliie s 5 e Y1 g OV B U S

IS e S e ) 53 5 2 Je e 68 i Jigm S1er ) osh S S

553
ol 1 1O
S48 Sty Sdga S b 8 S LS ) x%‘»cﬂw&;’- 2y (S
€l \S
=

i S8 S S g 1 s e Jy oS ol G 8 K IS i o S S ahe oS 2
8 ats
A S i s Sl 8 K35 S

€ Jigm B8 e s g5 o S8 8 8 O S g (oSl S g e i)

o B SRS S S s Sl eidasg s il oy Ao BlpSda

.Jﬂ.}”ﬁ.ﬁi.-‘n.c.:gcje.‘l_;ﬂ_‘gj_}ll_,);\_ ,:‘__‘.!:;L.th,&&..bdl,_u‘,s,s._;.i}\ .
OEE ) S Sl A 53 5 a3 Gl g U St o ) S Ja S gl el R [ At S

9 8 U g nilaia b e Jlans S il e d [l [ g g 35S i) S gt U el
CSV - . . > . 1
R i Sy Y Ol g 3

Sl e [l [ 3 28 00 10 S Sel (S Sl (plyr gy il oy (S G e ol o)

e S ) OV O Jilea

8 i il o gpta S S e gt Al G om st (oS Ui U s S S om el

Al us Sy

- e b

6

0222/ Urdu Set-A 1 of 32 P.T.O.

Scanned with CamScanner



SECTION-I

Instruction for Q. L. @
Ahmadabad. Feb. 15, 2016

A team of Indian and German scientists working n

region of Gujrat had found a big fossil of a dinosaur in hill in Loda

ear Bhyj in the Kutch
i village.

On Saturday they found more fossils. The new fossils include skull, jaw, and
some teceth of dinosaur. A sample of fossils has becn sent 0 Munich, Germany

for further testing.

1. The above news tells us about.......
(1) The scientists (2) Ahmadabad

(3) Germany (4) Dinosaur fossils

2. Complete the dialogue with correct option.

Meena -: I am getting ........... It's too cold here.
Mother-: Don't worry dear. Il bring sweater for you.
(1) Bored (2) Confused

(3) Tired (4) Chilled to bone

3. Choose the correct option for the following slogans.
The following slogans are about........

jﬁ..o will keep it clean, if you m_ou;\_

|
_mv:; spoil, don't ao:_n\_ll*‘ ? ? ;oi planls not mﬁ_ummm__

_‘Nnnn your arca clean and ,cnm%z,:i

(1) Earth (2) Education

(3) Environment

(4) Cleanliness

SPACE FOR ROUGH WORK

Instruction for Question No.- 4-6

: Read the passage and ch
. 00S
option. g e the correct

Kabir was one of the great personalities in the history of our country. He lived
hundreds of years ago, but his poems and teachings are sung with love and
- reverence even today. Hindus, Muslims, Sikhs, all think of him as a great Guruy,
teacher and religious figure. Kabir taught people devotion and humility. He wrote
couplets and {dohas) and short poems. Though his compositions are short and
simple they comvey profound meaning and wisdom.

4. Choose the correct option.

tscrareseran

The passage tells us about
(1) The history of our country

(2) The information about Kabir-a saint poet
(3) The different religion

(4) Kabir's childhood

S. Which 'Hindi' word is mentioned in the passage?
(1) Sung (2) Figure
(3) Doha (4 Ago

6. Complete the web by choosing the correct word.
Hll__,’ﬂmc:.m Oo:?aﬁg

() Love (2) Reverence’
(3) Devotion

(4) Profound meaning

SPACE FOR ROUGII WORK.
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7. What is the mood in the foliowing short-note ?

Choose the correct opuon.
I'mv abways there m your howr of peed

May histher soul rest 1 peace. Words fall short to CXPrEss My SOIrow.
(1) Happy
(3) Sad

(2) Surprise

(4) Wonder

8. Read the following procedure and choose one correct alternative.

These methods are used for

Wishing

Soaking

ﬁ Grinding
=—— 1%

Fermenting
—
Streaming

(1) Washing cloths
(3) Making rotis

(2) Making idilis
(4) Making desserts

9. Read the following riddle and choose one correct option.

I'm tall when I'm young.
I'm short when I'm old.
What am 1 7

(1) Tree
(3) Egg

(2) Candle
(4) Stick

SPACE FOR ROUGH WORK

Instruction for Question No. 10-11 : Read the passage amd choose the correct
option,

Grate a couple of medium sized bretroots and soak them ia a little waier Aftes
a while, you will get a beautiful dark pink-red colour. Add it 1o g buchetiul of water
The red jaswand (hibiscus) flower will give you a deep red colour. Dry e petats
of Zendu (mangold). Then you can powder them o get an orange oo Even
you can dry the leaves of neem, mint, comander, spinach to get a dry green P ides
If you crush or grind the fresh leaves you get dry coloun and if you add the paste
10 water, you get wet colour. So talk o your mother to find out what other things

in kitchen can give you safe natural colour. Let's celebrate holi with natsral colos

10. Match the pairs.
A B
(1) Jaswand (1) Pink-red
(2) Spinach (b) Deepred
(3) Beetroot
(4) Muarigold (d) Orange

(1) 1-d; 2-b; 3-a; 4-¢

(c) Green
(2) I-b; 2-a; 3-¢; 4-d
(3) I-c: 2-d; 3-b; 4-a (4) l-a; 2-¢; 3-a; 4-d

11. Choose the correct option for the correct title 1o the passage.
(1) Colours

(2) Celebrate holi with natural ¢olours
(3) Celebration

(4) Festivals are colourful

0

222/ Urdu Set-A 4of 32

P.T.O.
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12, Choose the correct alternative.

Hrishikesh was awarded as a ‘best student of the year’. Find out three adjectives

which suits him.

(1) Good, honest, brave
(2) Big, quite, bad
(3) Calm, nest, ago

(4) Big, tall, ball

blifg (s [m|n]o
rlhfjofn]|e|s|t
afglolt)jtp|q
vic|d|blo|d|h
clsm|pf|d]|b|q

13. Choosc the correct alternative from the following.

(1) The sun is not as hot as tea

(2) The candle is hotter than fire

(3) The fire is hotter than candle

(4) The candle is hotter than sun

SPACE FOR ROUGH WORK

14.

15.

16.

Go through the following diagram and choose correct alternative,

1 . 2 -
The mother asked if The mother asked if
I could saw the rainbow. he could see the rainbow.

The mother said
"can you see the
rainbow?"”

4

The mother asked if

The mother told that )
she can see the rainbow

he could see the rainbow

(H 4 2) 1

3) 3 ) 2

Find out one correct alternative of type of tense of underlined word.

When a farmer was returping home from the market, dark clouds gathered in
the sky.

(1) Simple past tense (2) Present continuous tense

(3) Past continuous tense (4) Future continuous tense

Choose two correct alternatives for the following sentences which shows correct
object and its active voice
My toy had been taken away.

(1) ?@. sister had taken away my toys
(2) My sister has taken away my toys
(3) My sisters had taken away my loys

(4) My sister taken away my toys.

0222/ Urdu Set-A

6 of 32
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17. Choose correct altemnative.
If where: place. why: rcason then when:..........
(1) Quantity
(3) Manner

(2) Suggestion
(4) Time

18. Choose the odd man out. Choose one cormrect alternative.
| (1 3 2 4

- v v ¥
can may must do 3) 1 “4) 2

© @ 6 @

19. Choose one correct alternative of the following.
Last week grandfather wanted to visit Kashmir. He booked tickets.

(1) Noun (2) Verb
(3) Adverb (4) Adjective

20. Choose one correct alternative to form exclamatory sentence.
a / what / dream / it / horrible / is !

(2) What a dream horrible it is!

(4) What it is a horrible dream!

v

(1) What a horrible dream it is!

(3) It is what a horrible dream!

21. Choose the correct alternative. Find out the word which has not suffix. «

Subscription| Mention ﬁ/,.( !

() 4 @ 2
® @

33
Description 2 @1

Prescription

SPACE FOR ROUGH WORK

0222/ Urdu Set-A 8 of 32
P.T.O.

22.

23.

24.

25.

Choose two correct alternative from the following.
Dinosaur were reptiles. There were many different types of dinosaurs. All
dinosaurs did not look.............

(1) Different (2) Similar

(3) Unlike (4) Alike
Read the following sentences. Choose the correct alternative.
When Mr. Yadav gets back from his office, he expects his servant to have a

hot meal waiting .............. him.
(1) For (2) At
(3) From 4) Of

Choose correct alternative from the following options.
Which word is rclated to 'eye'?

(1) Cite .(2) Site

(3) Sit (4) Sight

Choose the correct alternative from the following options. Find the correct

phrase.

Viraj is very good at Maths. He is a good singer. He is the Q::.:Eo: of cricket.
He loves swimming. He is ...................

(1) Very brave (2) Jack of all trades

(3) Good at studies (4) Good friend

SPACE FOR ROUGH WORK
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[ABCDE | FGHIJ [ KLMNO | PQRST | UVWXY]

| SECTION-1I |
INTELLIGENCE TEST

26. Form a meaningful word from the letters PTECSIROIND Use numerals [, 2,
s fOr every letter. Find the correct option from the following that makes a
meaningful word from the word so formed. .

(I 7,51 @3, 1,2 3) 5, 2 1 @ 2,45

27. From the given alphabet series, choose the pair from the given options, which
is at an cqual distancc from the 11th letter from the right. [sclect two correct
alternatives]

() D, R 4 @)F, X LT 4 P F

Q. 28 and 29 Directions : Study the following number series and answer the
questions that follow :

23342532354214233254215342532423

28. How many times an odd number is immediately followed by an even number
but not preceded by even number.

1) Six (2) Four (3) Five (4) Seven

29. In the given number series, which number has occurred highest number of

times ?
(1 4 23 3 2 @5
, SPACE FOR ROUGH WORK
0222/ Urdu Set-A 10 of 32

P.T.O.

FGHIJ | KLMNO | PQRST

[ABCDE

UVWXY]!

| sEcTION-1I |
INTELLIGENCE TEST

E“FVQE.\_Y._..\..DLu\hﬁh\%ﬂ\ﬁuﬂr\nhu%\_..rcmlkxm.p N1y 401 ._\(\Q.n\l..\. 26
m.ﬁ.&\.—.“
a4 3 (2) 504 (1)
5.1 (4) Im2 (3)
r.\.m_.Cu_..uN.Mbm.TQQ\Q\SCﬁln.u\..ﬁ.r.r.ﬂmkcc_\-ﬁplw\&.._ le il Qn«ccnrw,vt.“\ 27
&
F, X (2) D, R (1)
P, F (4) J, T (3)
"LL\QhkM\hmct_Nm\mC_\
23342532354214233254215342532423
,...P_\.r.n\cu\ E_C.&k.vmv..kqhu\mF\W.Pu\a.vwkrwhi&@r\nxt\&tmﬁm.!. 28
=4 (2) =76 (1)
A C)] =75 (3)
S\ Tz rolic ki AN ol 25 29
32 4 (1)
54 2 (3)
Lol Lpvs
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|ABCDE | FGHIJ [ KLMNO | PQRST [UVWXY|

Q. 30 and 31 Directions : In the following venn diagram, triangle represents
ral represents

doctors, circle represents farmers, hexagon represents authors and quadrilate
carpenters.

30. Which of the following options indicate carpenters who are farmers.

(1) JKLI (2) IEFG (3) EFDC (4) HCLM

31. Which of the following letter indicates doctors who are only authors.
() K ) A
(3 M (4) None of the above.

32. Find the position of the 7th letter which is to the left of 12th letter in the given
alphabet series. [sclect two correct options]

(1) 21Ist from right (2) 21st from left

(3) Sst from right (4) Sst from left

33. 150 streamers of different colours are arranged in a garland. The colours follow
a specific sequence, red, yellow, green, blue, violet, white and orange. Which
of the following option will not carry violet coloured stream ? [select the correct

alternatives]
(1) 68 (2) 89 (3) 115 @) 94
SPACE FOR ROUGH WORK
0222/ Urdu Set-A 120t 32 )

P.T.O.
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(P L3130

gL A sl i S S M Ut G s L N

A
D
K|[I
L G 5 C
M
4&thhﬁh\f\ﬂ»\hlﬁwm¢uw!_u.\.|.\\mmw 30
HCLM (4) EFDC (3) IEFG (2) JKLI (1)
4&M..WN\NEPLu\\.‘p Qu“c\_\ﬁltn..l\..lmm&.fu.\\ 31
ST (@) M (3) A (2) K (1)

,Eﬁ_u\.munxcbrumﬂucmr\nﬁh}\uh\?ﬂ.ﬂﬁx 1y Yyl :whru.‘.\&u 2@ s 32

U2l et (1)
U5 P\lf.\uroQ..wr (3)

U2l el (2)
U5 et (4)

e eI L L ulze 13150 LANS ks S ek dpek UL 33

n%&%&i\..ﬁ(m‘c.\_wm\..\“h\ru\
94 (4) 115 (3) 89 (2) 68 (1)

Lol Ly s
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[ABCDE [ FGHIJ [KLMNO | vom%

34. Akshay is younger than Vishal by 125 days. Akshay is born on Saturday. 13th
Aug. On which day was vishal bom ?

(1) Sunday. 10th April

(2) Frday, 16th December

(3) Sunday, 9th April

(€)) .95.33. 15th December.

35. Find the number of quadrilaterals in the given figure.

(1 12 2 8
3) 17 @ 14

36. In the following series, determine the rule and find out the term in place of the

question mark. .
DB D

(1 18 2 21
(3) 26 @) 23

SPACE FOR ROUGH WORK

0222/ Urdu Set-A : —
u Se 140t 32 P.T.O.
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4%&.3_\&&‘,“\\{*%;‘1_\.\40:“&\\9_m G\.\na«.n-?........n\c_wm e 34
’ ATty 10 (1)
22 216 (2)
Fdas 3
=2 w15 (4)

e GWSSLW =it UL 35

8 (2) 12 (1)
14 (4) 17 (3)

..N..qucuﬁJ\\?yhrﬁh\Eﬁ:\\\GWnuﬂ\_\mhﬂ.\:m@Ct\c 36

21 () - : 18 (1)
23 (4) 26 (3)

\mmn.ﬂ.ﬁﬂv\_l@.
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[ABCDE | FGHIJ [KLMNO | PQRST [ UVWXY]

. . iven bclow
Q. 37 to 39 Directions : Identify the rhythmic arrangement of terms g
and find the correct term in place of the question mark.

3. MSTUNUNMSTSTUNMNMST??2?2NMS
() UTU (2) STM (3) UTS (4) MSU

um.hmmq_mmm~ummpwmq_m..:.mm..wu_.\m..‘
M 1, 8,7 2)2, 5,7 31,25 @ 1,57

39, D$>+OX*DD+XO*DDX+O..S..$ + O
(1) *Oxa , Q) ax*x0O
(3) *ax0O “4) *A+0O

40. Pramod's present age is double of Amir’s present age. Pramod is younger by
2 years than double the age of Sarvesh, but Harshal is elder by three years.
Krishna, who is elder by three years than Harshai was 14 last year. If these are
arranged in ascending order of their ages who will be at the center ?

(1) Pramod (2) Sarvesh (3) Krishna (4) Harshal

41. In a certain code language ‘SOON’ is written as ‘O0SN’, *APPLE’

is written
as ‘PPALE’, then how will you write ‘TEETH’

in the same code language ?
(1) EETHT (2) ETTEH (3) EETTH (4) EHTTE

2. A bus started at 6.40 a.m. travels at a speed of 45kmvhr, At what time it will

reach another place which is at a distance of 375 km 2

(1) 2.55 p.m (2) 3.00 p.m (3) 3.05 p.m 4) 2.50 p.m

SPACE FOR ROUGH WORK

0222/ Urdu Set-A 160t 32

P.T.O.
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' [ABCDE

e { “ L _s_u—\!. \C_wr _.l“ m(\.\l _tL_‘r g U ln.\- ﬂr\ o) \-_ n \: Nru
- .v-.\ e -— Ir\\\ \ (74 7 \r\\\s w C\ C\ &\ \—\.—\
— 1 4 .4 4

MSU (4)

! ?
&nmq_mOm_quw&umq_m@ququ_.\u

1,57@4)

1 L39637 2ty

37
uTsS (3) STM (2) utu (1)

38

1,2,5 (3) 2,57 (2) 1,87 (1)

Ox+0m77? +O 139
* Oxx0OA+XO*A
EFEad a0Oxa (1)

*AxDO (3)

A+ x0O (2)
*A+0 (4)

4 3 ¥e] b 40
et ot S I g 2 L Wy S ML fuoiir S5/
T

—* (4)

1L
A7 (3) P yog (1)

2L S B o L L A1 7 b YT e B QT 41

@)

-t (3) tt () g ()

S £ Z LUl L 2 315 o oL 2F 32K 45 Sind6a0E 42

E3 50 (2) Z.2:55 e (1)
E.2:50 g525 (4) £.3:05 59 (3)
Lded Lo¥is
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(ABCoE [ Fonis [wimno [ParRST [UVWXY]

Q. 43 to 47 Directions—

. ; 3
In cach of the following questions, reletion between 3rd

and 4th term is the same as that of between the first and the second. Find the term

to replace the question mark.

43. Equal : Congruent : - Characteristrics « 9
(Select two correct ullcmulivcb}

(1) Features (2) Personality (3) Properties

44, Water : HyO::Sa: .9

(1) KcCI (2) NaOH (3) NaCl

45. 253 1 450 ; : 341 A

[Select two correct alternatives)
(1) 360

(2)512 (3) 146
46. MOQ : PRU : : ? : NPS
(1) Uwy 2) KMO (3) JHF

47.

S 2
(1) (4)

0222/ Urdu Set-A 18 of 32

(4) terms

(4) HCI

4) 72

(4) JLP.

P.T.O.

AB

L Lareas L ey

. - 271, 3 .{. K)I;)%
i dertdre L obE e ARG TR
-t : "

Z-u 4)

HCI (4)

72 (4)

JLP (4)

N 7 RN - S A
(i FenE ol

) Pt (@) 7 )
¢ s o M0y 44

1

NaCl (3) NaOH (2) Kcl (1)

.9 45
[-é..;»"i»u;t}é:] 253 : 450 :: 341 @ ?
146 (3) . 512 (2) 360 (1)

MOQ : PRU : : 72 : NPS 46
JHF (3) KMO (2) uwy (1)

Lded Levs;
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[ABCDE | FoHIJ [KLMNO [ PQRST [ UVWXY],

Q. 48 to 50 Directions : Study the following Pyramid.
25
36 33
20 38 14
32 35 24 12
13 26 22 31 21
17 37 19 29 16 30
18 27 11 34 23 28 15

48. 203226 : 3124 14: 732 1337 . ? [Select two correct alternatives]

(1) 29 31 24 (2)29 22 24 3) 12 31 16 (4) 16 31 12
49.1327:1929::3519: 9

(1) 3121 ‘22 31 (3) 21 31 ) 29 16
50. 18 27 37 19 34 2 2 30 )

(1) 29 23 )23 16 3) 29 16 4) 23 28 °

51. Identify the mirror image of the question figure when a mirror is held as shown
in the diagram. ’

Question Figure  Answer Figurc

B L LA [

SPACE FOR ROUGH WORK
—_ TR

0222/ Urdu Set-A © 20032 PTO

] [uvwxY]
FGHIJ | KLMNO | PQRST

_éuw(rl,.-véiséésous/?dlr fecls

25
36 33

17 37 19 29 16 30 5
18 27 11 34 23 28 1
6 : 3124 14 ::321337: ? [Select two correct alternatives] 48
20 32 26 : 1132 o
16 31 12 12 31 16 (3) 29 31 24 (2) 29 22 2
1327:1929::3519:7 49
2) 31 21 (1)
) (©) 22 31 (
29 16 (D 21 31
18 27 37 19 34 2 ? 30 50
23 28 (4) 29 16 (3) 23 16 (2) 29 23 (1)
- J‘;a;u:g;ﬂc;; - 51
Jediz L
(¢)) (2) 3) (4).
- Lde L Levs
P.T.O.
0222/ Urdu Set-A 2lof 32
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52. Find out the rule underlying the arrangement of numbers in the following
question and choose the correct alternative that will replace the question mark,

£ offo e a0

(1) 30 (2) wo a. 33 (4 77

Q. 53 to 57 Direction- In the following scrics, determine the rule underlying the

serics. and find out the term in place of the question mark.

53. 2. 6, 16, 38, 84, ? 368

(I 176 (2) 168 (3) 186 (4) 178

sa. DN AUAS AQIIOHAA
m AQD A & A

55. BC. CF, EI GL, KO, ? QU.

(1) MS (2) NR (3) MR 4) OR
56. 2, 9, 40, 153, 450,
(1) 889 (2) 891 (3) 900 (4) 879
57. "
&
AN Y]] ?
> & 5) 4
Z
(1) (2) (3) 4)
) SPACE FOR ROUGH WORK

@ A

0222/ Urdu Set-A 22 of 32
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l.-l.mu(.\ Ui la.:(.ln\u-ln_.\..L.Mn.u(_w\_wl\-\amu(:..\ 52
O O QO G
OEIONOEIOROEIONORO,
®© © O ©
77 (4) 33 (3) 36 (2) 30 (1)
Fhm#ﬁ\c_\ )N
n.\\d«u\(»ﬁh\(nl..\ch.m T A I
2, 6, 16, 38, 84, ? 368 33
178 (4) 186 (3) 168 (2) 176 (1)
ON AVUAOALADILIOHAR] 2 2 54
AD® ASe ©fe  AQD
BC, CF. EL GL, KO, ? QU. 5
OR (4) MR (3) NR (2) MS (1)
2, 9, 40, 153, 450, ? 56
879 (4) 900 (3) 891 (2) 889 (1)
57
NI YRR:
oA OAOO B .
?‘ & =), G
G
(1) (2) (3) (4)
LS Levoi
0222/ Urdu Set-A 23 0f 32 PTO.
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[ABCDE ]| FGHIJ | KLMNO | PQRST [ UVWXY] [ABCDE | FGHIJ [KLMNO | PQRST | UVWXY]
. ot . ight boys standing j . ,
Q. .mm_ .:mn.mw U_n_nn:”Ff A, B.C, D, E F G, Hare n____.a n”.. Hﬁ auua. 5 his Mm”w | . 1 L5958 )y necly
a circle Tacing cach other, at an equal distance. D is standing ne ! g . . s | . s . . . ;s
and E is in front of him. B is standing next to H, to his right and is in front of h.\?.r.\.vcob.“.wcc_\._.\h\\ T m.\.th.Qc.C.l.z(L_Cu,L_\fhG.&.S\arb
G. In front of C, 10 the south D is standing; but F is not next to D. T :hrﬁ.r.\.m&..wh [ VHTE\GNL\&&.J\.@Qu_\__\\whru_c.ur\_..cmr\._\
e Ry LS e L e Sl
58. Which direction H is facing ? & . . ! f ‘%]
, gl LS 58
(1) North-East | th-West L s
) o {2) South-Wes | Pt (2) JAUe (1)
Sduth-East h- | 3h (12 3
( 1-Eas (4) North-West - \(LT ) U (3)
59. Who is standing to the East ? °
. e 1 ulenir 59
(H C (2)B (3) G (4) H .T\\c -QQ\
& @ J ® - @ J M
M. mﬂ. E“_n 61 Directions— In the following questions a question figure is given, "...Fhm_ t_mo\w.c_\ by
cntfy its water image from the given altermatives. o ]
’ el S S
60. Question Figure  Answer Figurc Jeidiz Sl 60

457 (<450 [d[dez] 4Ry 45404 922 J2)| |45

n @ 3 4)

: M @
61. Question Figure Answer Figuro w Jed S
T | |Malst | et | Natie [ ForeR | (Ml | itest | dant e [FORSR] gy o
A_: @ & @ | Q@ G ) v
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Q. 62 to 66 Directions- Find the odd term.

am_lhaon.aw\.&_\ ecle

62, (1) Hour-our (2) Cloth-clothe |A.tw.“ﬁn~=:.msxh&ﬁrh:\w
(3) There-their (4) Scen-scene | wker (2) = (1) 62
| P ) Ui (3)
)
o 3 i 844 (2) 327 (1) 63
il e Gy 627 (4) 532 (3)
64. (1) Ttaly-Rome (2) Germany-Berlin eer2 (2) _\tn_.w._ (n 64
(3) U.S.A-New York (4) Egypt-Cairo T (4) L (3)
/ 6
65. (1) ADH ) (2) RVY RVY (2) ADH (1) h5
- FIM (4) KNR (3)
(3) KNR ) FIM
66. e /./ 66
/,” ? \
(1) (2) (3) (4)

(D (2) (3) ()] |
w “cm\&"ﬁ\rn%-c.qqmcwr_..w\h_.b(m.vu @ 0. O, A, *, B uf YAl 67
§
H

'

67. Different Faces of a cube with symbols 0, O, A, *, X, and O are given rﬁ%ﬁ.ﬁ.\l\:h\_&\.&m\r&.\?h, e ._..hlC.-.(.‘_..(..Jwﬂn.;hh\..:.ru(;\..mC\C‘..vEOq:

below. Symbols on opposite faces are given in the altematives. Which alternative

} s

i ol 7
shows the symbols that arc not on the opposite faces. w .Qs.\l _QuNC\r\

A~ i
v E .
A z & % wx 5 ) a |® s o|@ = la
D b3 O E a !
3 (4) < and O(3) A and * (2) d O
(I) O and O (2) A and * (3) B and © @ OmdB | O and & = O] an 0 and O ()
SPACE FOR ROUGH WORK i Lled LAvli
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68. From the following number series, find the odd term.
12, 15, 20, 23, 28, 34, 38, 45

(nH 34 (2) 20

(3) 28 (4) 45

Q. 69 and 70 Directions— In a certain code language ‘1 cat nr%?:_. Is wrllen ag
BAN. ‘I sell books’ is written as CNO and *Amar reads books™ is written as OBM,
Then.

69. Which letter is used for the word ‘sell’ ?

(1) N 2)0 3) C “) A
70. Which letter is used for the word ‘I' ?
1 B @) C 3) 0 (N

Q. 71 and 72 Directions—-Choose the correct figure from the alternatives which
exactly matches with the question figure.

71. Question Figure  Answer Figure

3] (@@

@ 3) 4)

72. Question Figure  Answer Figure

(n (2) (3) (4)

SPACE FOR ROUGH WORK
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' ..nn - \ﬂ. .o ~\ C. .

PN EY SERIV O V= SV I
12, 15, 20, 23, 28, 34, 38, 45
45 (4) 28 (3) 20 (2) 34 (1)

1L L7069 £t

FLWILICNO A Ust Qb Ut e bWl BAN A2 U QU Tz Ut ot Qi

A (4)

N (4)

.................. W WIIOBM A2 e bW dubsie
Ce A T2 QUwfd Lpgiundl’ 69

C ) 0 (2) N (1)
fe VT QUi oid LEIIUE 70

0 (3) ¢ (2) B ()

L Iy e
e e i e For

Qﬁ_&_h r»w«un:m\ 71
@@ [@
A =
() (2) (3) (4)
Jedin S
2 5 72
PREE (@
Y, .«.\ Ri \
n (2) 3) (4)
Ll Zevii
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= 73. A square sheet of paper is folded and cut as shown in the question figure. How
will the figure look like when the paper is unfolded. Choose the correct
alternative.

A R

74. Find the hidden part of the question figurc from the altcrnatives given.

Ni=

n () 3) ()]

75. Choose the correct alternative to complete the question figure.

m v e P

m @ ®) @

SPACE FOR ROUGH WORK
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?JLWL)JLFJ:pLUQi:&ﬁ!-;—g’kK{b'z*(?u;G&/ﬁ(;(JpﬁJ_'r 13

i v
. " a
H u s
LB =] -
{1 2) 3)

4)

E Fe e oSN T4

=

0))] (2) N C) “)

LSl L8 ST 15
v PP

1) (2) (3) “)
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